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Base your answers to questions » through 4 on the information and diagram below.

A longitudinal wave moves to the right through a uniform medium, as shown below.
Points A, B, C, D, and E represent the positions of particles of the medium.

Wave movement
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What type of wave is shown - | A

1) Transverse 2) Longitudinal ~ 3) Circular 4) Linemj

/i I '
j 24 Which diagram best represents the motion of the particle at position C as the wave moves to the right?
$ C / C \C -«
C
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25 The wavelength of this wave is equal to the distance between

<D AandB (3) Band G
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points

@ 26 The energy of this wave is related to its

CID amPhgude 5) speed
O perio wavelength
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The diagram below represents a periodic wave traveling through a uniform medium.

(3)  What is the wavelength of the wave shown ?

1) 12 meters 2) 6 meters 3) 4 meters 4) 3 meters

@ What type of wave is shown - ‘ #

1) Transverse 2) Longitudinal  3) Circular 4) Linear

@ If the frequency of th i
g) 6.0 m(}s ot the wave is 2.0 hertz, the P Zfodz/wave is
8. S

2.
0 m/s () 4.0 m/s
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In a vacuum, all electromagnetic waves have the

same
(7) speed g)) frequency
@ phase | wavelength
te jO
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A certain colar of light has a wavelength of

5.0 x 1077 meter in air?

@ What is the frequency of this wavelength light wave ? #

if ' 1y
1)6.6 X IOtz 2)6.0 X 10Hz 3)55X IOsz 4)50 X 10 Hz

@ (1) blue (3) orange
(2) green (4) violet

The diagram below shows two pulses
approaching each other in a uniform medium.

—_ / \10Tcm
5cm
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‘Which diagram best represents the super-
position of the two pulses?

(1) (3)

15cm
5cm



Whaf is the total number of nodes and antinodes 1n the standing wave?
‘@) 3 nodes and 2 antinodes g 5 nodes and 4 antinodes
71,

@ 2 nodes and 3 antinodes

4 nodes and 5 antinodes

@

Playing a certain musical note on a trumpet
causes the spring on the bottom of a nearby
snare drum to vibrate. This phenomenon is an
example of

(1) resonance 3/ reflection
() refraction diffraction

As viewed from Earth, the light from a star has
lower frequencies than the light emitted by the
star because the staris

moving toward Earth
- moving away from Earth

@ stationary
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Base your answers to questions 66 and 67 on the information below.

One end of a rope is attached to a variable speed drill and the other end is attached to
a 5.0-kilogram mass. The rope is draped over a hook on a wall opposite the drill. When the
drill rotates at a frequency of 20.0 Hz, standing waves of the same frequency are set up in
the rope. The diagram below shows such a wave pattern.

f=20.0 Hz

NN NN

5.0 kg

@ 66 Determine the wavelength of the waves producing the standing wave pattern. [1]

@ 67 Calculate the speed of the wave in the roi)e. [Show all work, including the equation and substitution with
units.] [2] -
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